
Transfer Responses To One Club

Transfer Responses To One Club
Outline

One club is either:

a) 11-13 or 17-19 balanced potentially with five of either minor

b) Natural, primary clubs, light opening style limited only by failure to open 2( (artificial and strong)
Summary of Responses
1(/(
Transfer, 4+ (/( may have longer minor.

1(
Diamonds: no major unless game forcing values. Four cards only if 3=3=4=3, 3=2=4=4 or 2=3=4=4.

1NT
Clubs: no major non-forcing opposite 11-13 effectively a maximum of 10 HCP.

2(
Clubs: FG usually unbalanced.

2(/(
Transfer: six card suit, 8-11
2(
11-12 balanced no major.

2N
Clubs: either
a) weak long clubs to play 3( opposite 17-19 balanced

b) 4+ clubs, no shortage, either 12-14 or 15-17, FG.

3(
Clubs: stronger than (a) components above, to play 3NT opposite 17-19.

3L
Splinter in suit named, 5+ clubs, FG

3N
Natural - game only.

4(/(
S.A. Texas - Good 4(/(
4(/(
Natural, pre-emptive.

4N
Sound 5 minor opening.

Transfer responses

These give a pre-eminence to the majors and increase the pre-emptive effect of hands without a major. However, as opener indicates immediately whether or not three cards are held, they shift the emphasis on responder to drive the subsequent auction over a completion or 1NT response. This gives rise to some artificiality, predominantly using 2( and 2( as invitational and game-forcing continuations.

Emphasis on first deciding to play 3NT of 4 major and only then to explore slam.   
Red-suit Response
Here M is used to indicate responder's major, OM or an explicit symbol denote the other major.

1(
1(/(
1M
Many way, always showing at least three M:

a) 11-13 balanced with 3M

b) 11+ with 5( and 3M

c) 17-19 balanced with 4M

d) 4-4-4-1 minimum (with 4M and 4()

e) 1=4=4=4 and extra values after 1( (no immediate 3L splinter in spades)

1(
Natural, 4+cards and 4+ clubs
1NT
11-13 without 3M
2(
Unbalanced with clubs denying 3M
2(
Natural, clubs and diamonds extra value
2M
11-13 with 4M – could be 5(-4M-2-2 in range, poor 5(-4M-3-1
2(
(after 1() Natural, extra values.

2(
(after 1() Natural, strong but not entirely game forcing

2N
17-19, may have 3M
3(
Natural, long clubs, extra values, NF.

3(/(
Splinter, forcing only to 3M – could be 4=4=1=4/4=1=4=4 with extra values.
3M
4M + 5( Limit (good 14-16)
3(
Splinter FG
3NT
Solid clubs and values outside – a reasonable expectation of success.

4(/(
Splinter FG
After the transfer

When opener accepts the transfer or bids 1NT, we play the same way.

· Opener's 1( rebid after 1( – 1( shows 4( and 4+ clubs (5+ unless 4=1=4=4)

· 1( – after a 1( response obviously – is natural, at best invitational

· 2( is a puppet to 2(, either to play there or to introduce invitational hands

· 2( is a game forcing relay – responses vary after acceptance/1NT
· Other two level bids are natural if they can be – same as after 2(
· 2NT is a balanced INV after 1( or 2(
· Higher bids after 1( or 2( are distributional but not forcing

· When bid immediately over 1NT or acceptance, 2NT and higher are as over 1NT and FG unless passed. Continuations show only 4M (2NT = clubs, 3( = diamonds short major, 3( = diamonds short club, 3OM = SPL only 4M, 3M sets suit – this last call a natural exception).
· After a natural rebid by opener not showing extra values (1( – 1(; 1( and 1( – 1R; 2() responder's jump rebids in the implied major are forcing (a corollary of the immediate mid-range transfer response).

With weak hands responder can:

a) Bid a natural 1( and reside in 1NT or major fit at the two level.

b) Bid 1NT with the expectation it will be passed

c) In 1( – 1(; 1( – 2( offer a choice of part-scores

d) With a 'long canapé', transfer to a long minor and pass the response
With invitational hands responder can

a) Begin a showing sequence with 1( (natural) or 2(; thereafter bidding 2NT natural or make an invitational raise of a major or show five of own suit.

With game forcing hands responder can:

a) Bid another suit naturally to show 5+ of first suit, shorter second. This includes primary diamonds (1( response). Effectively, after all responses: there is no canapé on game forcing hands.

b) Respond 2( and extract information from opener

c) Alternatively, initiate a showing path by using the same conventions as after an opening 1NT from 2NT to 3(.
d) Over opener's natural non-forcing suit rebid (1( – 1R; 2( and 1( – 1(; 1() jump in major implied by the transfer.

Opener accepts the transfer

The particular auctions here those that are excluded by a 1NT rebid and the change in meaning of responder's FG 2( continuation which here deals with fit sequences, and over 1NT with non-fit.
1(
1(/(
1(/(
1(
Natural with at most invitational values, opener continues:

1NT
11-13 without 4 spades. Continuations are a part-score scramble

2(
Unbalanced minimum with 5+ clubs, NF

2(
4=3=1=5 / possibly 4=4=1=4 spades better

2(
Minimum 4=4=4=1

2(
11-13 with 4(
2NT
17-19 with 4(, FG

3(
As immediate rebid but with 3(, strong but NF

3(
(After 1() 1=4=4=4 extra values

1N
Natural NF and not INV. Opener can continue naturally similar to above but not all bids are sensible:

2(
Unbalanced minimum with 5+ clubs, NF

2(
Natural? 5( in 11-13, choice of partials?

2(
Minimum 4-4-4-1

2NT
17-19 with 4(, FG

3(
As immediate rebid but with 3(, strong but NF

3(
(after 1() 1=4=4=4 extra values

2(
FG, relay with mainly natural responses and continuations
2M
11-13 Bal 3M not 4OM

2OM
11-13 Bal 3M + 4OM

2NT
17-19 4M

3(
Nat 5+(, unbalanced minimum with 3(. Responder can ask for shortage with 3(. Name shortage (3N = none, 4( = ()

3(
4-4-1-4 minimum, 3( asks for shortage, 3( = short OM, 3NT = 4=4=1=4

3(
(after 1() 1=4=4=4 extra values

3NT
11-13 Bal poor M and NT suitability


Over the 11-13 bids responder can grab the NT declaration with 2N and hear length/suitability from opener. Responder can also bids suit naturally below 3NT to gauge other fits in a slam exploration.

Opener rebids 1NT

The showing auctions are intact, the only exception is that 2( must be tailored to opener who has denied a fit. It is also possible for opener to be wider range with a shortage, say 11-15.
1(
1(/(
1NT

2(
FG, relay with mainly natural responses and continuations
2M
11-13 Bal xx M – cheaper first

2OM
11-13 Bal xx M and 4OM – cheaper first
2NT
14-15 singleton M; responder can continue with 3( as a semi-relay:
3(
Natural with 4(, may be 1=4=4=4

3M
Singleton A or K in 5-4-3-1
3(
(After 1() 1=4=3=5

3NT
Primary clubs
3(
11-13 singleton M. After 1( opener can only be 3=1=4=5, after 1( either 1=4=4=4, 1=3=4=5 or 1=4=3=5.

Responder's continuations are natural (and may potentially look to a working 4-3 OM fit). Over 3(, opener should not show 4OM but use 3OM to show suitability for diamonds, i.e.

3M
Like diamonds, singleton A or K major
3OM
Like diamonds.
3NT
Primary clubs
3(
Bal Ax/Kx. Responder can 'accept' the major as trumps with 3M or bid 3OM natural
3(
11-13 5(-3-3-2M
3(
11-13 5(-3-3-2M
3NT
11-13 Bal high NT suitability

Opener accepts the transfer or rebids 1NT

These are the common denominators between the fit and non-fit sequences where responder either shows or signs off.
1(
1(/(
1(/( or 1NT

2(
Puppet to 2( either:

a) To play 2( - if opener had accepted then breaks are possible: to 2N (17-19 4M), to 2M (4M weak 4-4-4-1), to 3M (4M stronger 4-4-4-1) and to 3( (values for immediate 3( with 3M)

If opener had rebid 1NT, then 2( is obliged.
b) Invitational types


When responder does not pass he continues naturally and non-forcing:

2M
5+ encouraging, opener may make a natural game try

2(
5( and 4+(
2(
(after 1NT rebid) 4( and 4( INV (opener can pass, raise, bid 2N or 3N)

2NT
Balanced INV

3L
5-5 INV

3M
6M invite

2M
Natural To play
2(
Natural NF, looking for best part score
2(
5( and 4(, NF but obviously with invitational overtones
2NT
Clubs, either to play 3( (only 4M) or start of FG descriptive sequence (5M)
3(
Diamonds, as 2NT above – if FG, then short major
3(
Diamonds, short club, 5M-4(-3OM-1( FG.

3OM
4M-1OM-4-4 FG.

3M
Sets M as trumps and requests control-bidding.
3N
Natural, assuming 11-13 or club hand with 2/3 card support opposite.

Opener rebids 2NT – 'Wolfie'

Here opener has denied four card support but may have three. There is a wrinkle to Wolff to allow us to separate the canapé majors from the long-major-short-minor but still enable us to play 3( or 3M.

The idea is to use 3minor to mean what 3-linked-major would in standard, so, in effect, start with a 'two under':
1(
1(/(
2NT

3(
Puppet to 3( either


a) to play


b) to play 3M


c) same as a 3( bid in standard (natural F1 or spades and hearts)


d) 5M 4(
3(
Either


a) same as a 3( bid in standard (natural F1 or 4-4 majors)

b) 5M 4(
3(
4M + 5( – opener's 3( shows a fit for clubs

3(
4M + 5(
So with hearts..

1(
1(
2N
3(
3(
Pass
diamonds


3(
NF


3(
5( 4(

3N
Game choice with 5M

4m
6( feature in bid suit

4(
Mild slam try (else immediate 4()

1(
1(
2N
3(
3(
3(
4-4 majors


3N
5( 4( NF

4(
5( 4( better


4$D
5( 5(
Opener can bid something other than 3( - 3( with 4(?, 3NT with no major interest, 4( with support for 2/3 suits?

And with spades..

1(
1(
2N
3(
3(
Pass
diamonds


3(
5( 4+(

3(
NF


3N
5( 4( NF


4(
5( 4( better


4(
5-5 Majors, mild slam try (else immediate 4()

1(
1(
2N
3(
3(
3(
5( 4(

3N
5( game choice

4L
6( feature in bid suit

4(
Mild slam try (else immediate 4()

Something other than 3(? 3( with 3(?, 3NT with no major interest, 4(/( with support for spades and diamonds. Easier with spades for opener to use discretion.

The disadvantages are that the common sequences (5M game choice, both majors) involve another round of bidding. The good things about that is that the transfer is preserved for a while longer and the strain can sometimes be captured by opener. The canapé variants have the explicit message and occur higher - it seems very much in keeping with useful space principles.

One Spade Response

1(
1(
1NT
No diamond fit, 11-13 in principle may be stronger with short diamond. Continuations are now the same as when opener rebids 1NT over a red suit except that 2( and 2( are natural, NF and 2( and 2( are an artificial invitation and game force respectively.
2(/(
NF

2(/(
Natural FG 5+(, opener continues naturally:

2NT
No major fit, no diamond fit
3(
No major fit, short diamond, 3M-4OM-1(-5(
3(
No major fit, 11-13 diamond support

3M
Natural, 4 card support 11-13

3OM
Natural, stopper,

3NT
11-13, misfit

4L
Fit for both, feature / control

2NT
Clubs, shortness next, 5(-4(-3-1 types

3(
Diamonds FG, balanced or major shortness (typically 6-3-3-1)

3(
Diamonds, short clubs (typically 3=3=6=1)

3(
4=0=5=4 FG

3(
0=4=5=4 FG 
Intervention

Second hand

If second hand bids 1( or doubles, we are 'system on'. The extra calls are '*':

1(
(X)
XX*
Clubs 4-7, encouraging obstruction by opener



1R
(/( etc.



1(
Diamonds



1NT
Clubs, NF, mostly balanced 7-10



2(*
Both minors, 5-9, at least 4+/4+ ATV



2(/(
Transfer, 8-11

1(
(1()
X*
4+ Hearts, all responses on.



1(/(
Spades, diamonds etc.



1NT
Natural, not necessarily clubs


2(
Game forcing as before

1(
(1M)
X
Take out – back to normal



1NT
Natural, 6-9



2(
Natural, NF


(1()
1(
5+ Spades

1(
(1NT)
2(
Majors?

1(
(2M)
X
Take out



2(
Natural, NF



2N…
Transfer: this is the same situation as 1NT (2L) 2N…
Fourth hand

Pretty much support doubles; if they don't get any farther than the one-level, we can still use all our kit after we've shown the acceptance (or not as is the case). In the rare cases where opener re-doubles to show 17-19, we'll just continue naturally; responder's cue-bid can get opener to declare no-trump without promising an extra card in the major.
As per the remarks above, the sequences below are equivalent to 1( (X)… and 1( (1() X…

After a red suit transfer to a major
1(
(Pass)
1R
(X);
Pass
11-13 no fit





XX
3CR with extras (usually 17-19)





1M
3CR with sequences intact





1NT
11-13/14-15 off shape: desire to bid – no fit





2(…
As before

1(
(Pass)
1R
(1M);
Pass
11-13 no fit





X
3CR with sequences intact





1NT
11-13/14-15 off shape: desire to bid – no fit





2(…
As before

1(
(Pass)
1R
(1();
Pass
11-13 no fit





X
Support double, 3CR with sequences intact




1NT
11-13/14-15 off shape: desire to bid – no fit





2(…
As before

1(
(Pass)
1R
(1NT);
Pass
11-13 no fit





X
Extras, typically 17-19





2M
Ambiguous raise





2(…
As before

1(
(Pass)
1R
(2L);
Pass
11-13 no fit





X
Extras, typically 17-19





2M
Ambiguous raise





2(…
As before

After a 1( response
1(
(Pass)
1(
(X);
Pass
11-13 no fit





XX
17-19 Balanced





1NT
11-13/14-15 off shape: desire to bid – no fit





2(…
Natural, as undisturbed
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